
Addition de Cœurs Doux (H)
Quelle est la valeur de chaque cœur doux?

44 + j = 99 n + 81 = 154

13 + a = 98 o + 76 = 132

90 + c = 164 q + 77 = 143

18 + g = 109 s + 68 = 154

66 + h = 125 k + 36 = 66

30 + b = 85 r + 41 = 113

81 + i = 125 p + 72 = 82

45 + d = 96 m + 34 = 69

23 + f = 70 t + 68 = 131

31 + e = 58 l + 10 = 105
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Addition de Cœurs Doux (H) Réponses
Quelle est la valeur de chaque cœur doux?

44 + 55 = 99 73 + 81 = 154

13 + 85 = 98 56 + 76 = 132

90 + 74 = 164 66 + 77 = 143

18 + 91 = 109 86 + 68 = 154

66 + 59 = 125 30 + 36 = 66

30 + 55 = 85 72 + 41 = 113

81 + 44 = 125 10 + 72 = 82

45 + 51 = 96 35 + 34 = 69

23 + 47 = 70 63 + 68 = 131

31 + 27 = 58 95 + 10 = 105
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